L =137fb! T1tttt(2100,100) T1tttt(1900,1250)  RI-R3 fit R1-R4 fit Obs.
200 < pis < 350 GeV
R1 0.0 1.1 7706 £ 874 77053 +86.8 7706
R2 Ny =1, Njgts = 7 0.0 0.1 935+33.8 937.3+29.7 935
R2: Ny = 1, Njts > 8 0.1 0.3 961+£33.7 95874297 961
R2: Ny =2, Njgts = 7 0.0 0.2 600 £315 60644237 600
R2: N, =2, Njts > 8 0.1 0.6 832+402 821.0+278 832
R2: Nj > 3, Nigts = 7 0.0 0.2 168+148 1712+126 168
R2: Nj > 3, Njts > 8 0.1 1.1 306+£21.7 30794170 306
R3 0.0 2.2 472 £214 47274198 472
R&: Ny =1, Nips = 7 0.1 0.2 756 £ 11.3 81.7+£56 84
Rd: Ny =1, Njts > 8 0.2 0.5 71.8 £10.3 763+49 74
R4: Ny =2, Nigts = 7 0.2 0.4 4894103 57.6+43 64
R4: Ny =2, Njgis > 8 03 15 62.7 £ 13.1 700+£51 59
R4: Nj >3, Nigts = 7 0.1 0.6 152 +£39 188+21 22
R4: Nj > 3, Njgts > 8 0.4 2.6 249+6.1 301429 32
350 < pmss < 500 GeV
R1 0.0 0.9 967 £309 968.0+30.6 967
R2 Ny =1, Njgts = 7 0.0 0.0 78 +9.6 722+82 78
R2: Ny = 1, Njts > 8 0.1 0.1 95 +10.9 924+95 95
R2: Ny =2, Njgts = 7 0.1 0.0 54 +85 55.8+73 54
R2: N, =2, Njts > 8 0.1 0.2 65+9.7 66.1+£81 65
R2: Nj >3, Nigis = 7 0.0 0.1 8+3.0 91429 8
R2: Nj > 3, Njts > 8 0.1 0.4 16 +45 187442 16
R3 0.1 2.9 68 +8.2 67.0+£65 68
R&: Ny =1, Niys = 7 0.2 0.1 87+L26 68+14 1
R4: Ny = 1, Njgis > 8 0.2 0.3 84+24 76+14 5
R4: Ny =2, Nips = 7 0.2 0.1 47416 52+1.0 7
R4: Ny =2, Njgts > 8 0.4 0.7 46+15 49409 6
R4: Nj >3, Nigts = 7 0.2 0.1 0.7 +0.4 09+03 2
R4: N} > 3, Njts > 8 0.5 13 18408 23407 5
PS> 500 GeV
R1 0.1 0.6 434 1£20.8 43411206 434
R2: Ny =1,6 < Njgs <7 0.1 0.0 49 + 85 469+70 49
R2: Ny = 1, Niggs > 0.2 0.1 134+4.0 132+37 13
R2: Ny =2,6 < Njgis <7 0.2 0.0 18 £5.0 185+43 18
R2: Np = 2, Niggs > 0.3 0.2 7429 76428 7
R2: Nj > 3,6 < Nigts < 7 0.2 0.0 4421 45421 4
R2: Nj > 3, Niggs > 0.4 0.3 5424 43420 5
R3 0.6 3.2 28 +53 279+42 28
R&: Ny =1,6 < Nigs < 7 1.0 0.1 37+15 31+09 1
R4: Nj = 1, Niggs > 1.1 0.3 0.8+0.4 0.8+£03 1
R4: Ny =2,6 < Njgis <7 14 0.1 15407 15405 2
R4: Nj = 2, Niggs > 2.0 0.6 03+02 04+02 1
R4: Nj > 3,6 < Nis < 7 1.1 0.1 04+03 0.5+03 1
R4: Nj > 3, Njgts > 24 1.0 09+06 0.7 £0.4 0




